ORIGINAL INSTRUCTION MANUAL

CIRCULAR SAW 0503CS026A

Technical Information
CIRCULAR SAW

Motor

Voltage

Speed

Blade size

Max. cutting depth at 90°
Max. cutting depth at 45°

;) BAAEPUWN C&M TPYN AQl

MHCTPYMEHTMWUTE B BBDATAPMUNA

1300W
230V / 50Hz
4500 min™
185mm
65mm
38mm

PREMIUM

e-mail: info@valerii.com
CepBus:ten. 02/ 942 34 70 (HaynoHaneH)

Safety instructions

Before attempling 1o aperate this machire, phease read and tallow 1he instruchons very careluly
Enzuring bath ihe saicty ol yoursel and alhers as well as giving you long and bouble free sarice
iram youwr Powarbase machirs

Know your powaer tool.

It is smpartant b rosd and understarnd yowr insiructsan manual and any labsl alfached ts 1he powsr
1ol Lo s application, as well as it's bmikatons and the ooientlal hazards associaied with 1hes
powar ool

Earth all toals.

Where the tacl is suopled with a 3 core cable. Always connect the gresn and yeliow 1o the earth
terminal, rever attempt b conmect it to a live terming

Keoep guards in position.

Blways eeg gquards in postion, in gocd workng ondes, cormactly adjusted and aligned. Mewer
attamal bo use = power kool without any guard supplied wih 11

Remove adjusting keys.

Apaays check 1o ses 1hat keys and adjustmg wrenchas sre removed from powes (ool Beians
turning on.

Clean work area.

Accipents ocoul whare benches and worlk areas ane clutteres or dicty floom mual be kepl clear
avorl working where the flaor e slippery dus 1o saedus! or wax,

Dangerous environment.

D mp wse your powar 100l = demp of wed lacations, & axposs Tham i rain. Provide adegquale
surrcunding work space ard kenp aroa wall 11

Children.

Childoan ahauld always be kagl o dale SSlancs Mnam your sark aras, Maka yoor woreshap ehild
prisol, logk 100l away whars childrgn can't 9ot access i hem

Dan™ use aicass lorca,

Wour powar o0l will giva much bater sarviee il you do not use exeassivg 1orce whan using it
Use the correct powar tool.

D't defce, ar atiemp! 1o use & power 1oal o7 8 purpose it was nat casigned 1o

Wear correct clothing.

D naol woar lpase clathing, neckbes or (ewsllery | rings, wristwatches ato ), these may gst caught
in maving pans. Wear non - slip footwear, coves or e back long hair, roll long sieaves above the
.

Frotect your haad.

Wiaar safety gogples at all bmes, owery day glasses ane nol suflicient far eye prolection, as lenses
afa Nt impact rMsEtant and could shatier, Uee face or dust mask I cparation i kel w0 be dusty
N BA PRGEACTOFE durng exlendad preicds of cperation

Secure work.

Alsayh sacure work whiers practcal, wa a clamp of vioe, it will allow you fe wse Both hands 1o
OREraIE yhu fowEr 08

Keap your balamce,

Dot aval reach, kKedp proper fooling at all mes to ensure correct balance

TRM u_,/‘i

o by Al

Lentpanen opuc: Copua 1517

kB. "Cyxarta peka” 6yn. "Botesrpaacko woce” 44

Ten.: 02/ 942 34 00, daxc.: 02/ 945 4634
GSM 0889/ 444 991

Mnosaus, c.Tpya 4199
yn. "Crpoescko woce” 3
Ten./dpakc 032/ 953 666
GSM 0885/ 808 003

www.valerii.com
Bapna 9000, k8. "Bnagucnasoso” Codua 2227, k8."Boxypuie”
6yn. “AtaHac Mockos” 13 6yn. "EBpona” 180, cknaa 33
Ten.: 052/ 504 514 Ten.: 02/ 92522 37
GSM 0885/ 808 004 GSM 0889/ 334 692

TIposepui: P.Y./24.03.2015r



BAAEPUN C&M TPYN AQQ

~M your p tool.

Keop your powe? 1000 in good working ordar, kaap 100k sharp and cioan 1or basl ang sates:
performance. Follow iInstruclions 1or chang ing Jcoessorios anad lubeicatan.

Always di ot

Beforo changing tocis, always snsure they sre disconnecied from the power sourcs

Avoid accidental starting.

Make sure the swich & in the OFF posxtian balora plugging in the maing lesc

Consult your aparaiors marnual for recommandad scesssorias. Follow The instruchons that
accompany the accesscries. The use of IMpProper accessories ocould be dangerous.,

Never stand on your power tool.

Stanchng on your pawar tool ar it's stand could cause sarkus iInjury ¥ the 100l = tipped or i The
cutting oo Is accidentally comacted. Oo not store matorals abovo or noar 1ho tool so that it s
necessary 1o stand on the 1000 or it stands o reach them

Check damaged parts.

1t any pan of the p ool = ged, bedore funher use, check carelully Tiat i1 will operste
progerly and perlorm it's nlended cperaticn. Check alignmant of maving parts for bénding Any
guas or other part that is damaged should be correcily repaired or replacea

Direction of feed.

Food work Imo a Dladge or cutter against the direction of rotation of the blade ar cutter ony.
Don™ b tool r ing attended

Alaays walt untll your power 100! has come ta a comalels stap Defare leaving il, then tum the
powar oM,

Unpacking & checking

Separats wll pans from packing malenals and check @ach ftem with the pctura opposite and the list
of those lcose parts below. If any Parls are missing do not attempd 2o use the angle grindar unii the

missIng Darts are ottained and nstalled correctly

Loose parts list.

A Parabsl Fanca 1

B8 Siade Bolt Spannar 1

< C Sparnmor ] /
A

PREMIUM

e-mail: info@valerii.com
CepBus:ten. 02/ 942 34 70 (HaynoHaneH)

MHCTPYMEHTWUTE B BbDBDJANTAPUA

Operating Indtruclisns
Chieck aiparaban 4l Kk@r uuin’l]. with B powar ool mal eaniagles b thy
mal power source belors sach uss. Do raluss f ke lower guand dods
ol i RO Gvad 1ha Gaw Dlade. Eneure [ Quand rlums uly
Hetp blades ciaan & sharp

Wikan handiryg blaces weas gloved

Heap mands away from ihe cutling area and blede &
all S, D il spdch ungariath amek
whita tha blade is retaiing. Do not
abiemp to remave cut material while
i badn 4 indvireg,

CAUTION:

The blade will eantinus to rotate after the machine is
wwilehad off far & period of time,

WARNING!

Keep guards In place and in good working order at all
times to aveld serious accldents.

Suppart larme panels 2z shown in (PIC.11 % simnisg the risk of blade
pinching and kickBadkiMe.2), When cutting operatiang reuir
Thee resting of th saw an iha wirk psce, the saw
sl b rested on the

langar portice wned all the smaler
pince ul off

s np teace at all imas and alse uss &
fanea o dhmght suge guids when loping.
Guarding againgl kek back, Kick back ocours whn 1he saw slass
sapelly and 15 drwen BOck awarda 1 ogsisi:

Pl v awilch immeadiabaly 1F bl bings af e aaw stalls,
Wy o aveis kisk acke:

Ksep blodes shamp.

Suppait largs waripisoes 25 shawn (Pie,1),

JER & tencd {f alfaighl edga quide when rinping.
U mot Ioeca the pomi lod

Stiy werd, exarcise coninal,

Da mat iaue he saw from @ work piece
while the blacs 3 #11 miang
Ravir place your hants of Fngeny
bestiing iisé saw, f kick back octii, i
Al could Jurnp hackwards over your hand, posdibly
CALS] Aevera Injry (Pie.d)

Always lovenr guard witf ing ratining handia,
Becdury cutling La sure 1hat tha suath ane Besl 4djustmiants arg fight,
Use only ihe corract blaces for your power 100l wilh (hw eamict bars mizs
Waver use talecivg of incarad! blade washars o ool

www.valerii.com

UenTpanex opuc: Copusa 1517

k8. "Cyxata peka” 6yn. "Boresrpaacko woce” 44
Ten.: 02/ 942 34 00, daxc.: 02/ 945 4634

GSM 0889/ 444 991

Mnosaus, c.Tpya 4199
yn. "Crpoescko woce” 3
Ten./dpakc 032/ 953 666
GSM 0885/ 808 003

Bapna 9000, k8. "Bnagucnasoso” Codua 2227, k8."Boxypuie”
6yn. "AtaHac Mockos” 13
Ten.: 052/ 504 514

GSM 0885/ 808 004

6yn. "EBpona” 180, cknaa 33
Ten.: 02/ 925 22 37
GSM 0889/ 334 692
TIposepui: P.Y./24.03.2015r



BAAEPUN C&M TPYM AN

M HC

Aol culls) Aails by nepeciing lor and e g @l
maids trom tho work piagce Baloee coffrg
Cipes with the corract hand o
o Ase Suppar (Picod)
WARNING! it is Important 1o support
thia workplece properly and to hold the saw
firmly ta prevent loss of contral which cowld causo =1
personal injury. Ses Pic.4 as this llustrates typical hamnd
Suppart of the saw,
Pinco the widor porteon of 1he sew Daaa on 1kl par of She workokooe shkch is
soldly suppaned, rat gn the seclion that will fal aff s@an o ool = mede |F
The workpesoa is ghart ar amaall, damp & dosn

DO NOT THY TO HOLD SHORT
MECES BY HAMD!
Pic 5 illusirabeds tha conrecd way 1o out
ot the omnd of o boand.

Wihile [(Fhob) shorms 1he weceng way 1o
cul off the end ol a boamd.

Hover affamgd B0 sme with the circyesr gaw bold upsida down in & wice
[Pic. Th this s oairamahy dangarous ard can lead 10 & serious
ACCIdes,

Befara asfling the ool down afbor comoledng
8 oul, be sura that e b gugnd
has slosed and tho Dlace bas coma
1o & o plaly =i

PREMIUM

TPYMEHTWUTE B BbBDATAP

www.valerii.com

e-mail: info@valerii.com

CepBus:ten. 02/ 942 34 70 (HaynoHaneH)

Lentpanen opuc: Copua 1517

kB. "Cyxarta peka” 6yn. "Botesrpaacko woce” 44
Ten.: 02/ 942 34 00, daxc.: 02/ 945 4634

GSM 0889/ 444 991

Mnosaus, c.Tpya 4199 BapHa 9000, k8. "Bnaancnasoso’ Codua 2227, k8."Boxypuie”
6yn. "EBpona” 180, cknaa 33
Ten.: 02/ 92522 37

GSM 0889/ 334 692

TIposepui: P.Y./24.03.2015r

6yn. “AtaHac Mockos” 13
Ten.: 052/ 504 514
GSM 0885/ 808 004

yn. "Crpoescko woce” 3
Ten./pakc 032/ 953 666
GSM 0885/ 808 003



;) BAAEPUWN C&M FPYN ALl

'gg_" Part Name m“ Part Name
1 | Metal 36 | Terminal
2 | Spindle* Gear Set 37 | Cord Clip
3 | Bearing Holder 38 | Tapping Screw(W/Flange) D4 X 16
4 | Seal Lock FLat Hd. Screw M5 % 12 39 | Tapping Screw(W/Washer) D6x 60
§ | Safety Cover 40 | Cushion
8_| Return Spring _ 41 | Flat Hd. Screw M6 % 20
7| Ball Bearing(6002VVCMPS2S) 42 | Super lock Washer M6
8 | Beering Cover 43 | wing Nut M6
9 | Seal Lock Flat Hd. Screw Md x 12 44 | Maching Screw(W/Washer)M3.5X 6
10 | Washer(B) 45 | Switch(C)
11 | Saw Blade (Cambipetion) 186mm- D19 Hole 46 | Handle Cover
12 | Washer(A) 47 | Wing Bolt M6 x 18
13 | Bolt (W/Washer) M7 x17.5 48 | Spring
14 | Machine Screw(W/Washers) Mo x 48 49 | Wing Bolt M6 X 15
15 | Tapping Screw(W/Flange) D4x 20 | | 50 | Base Ass'y
16 | Name Plate 51 | Roll pin D6 % 45
17 | Houslng Ass'y 52 | Bolt(Square) Mé
18 | Bearing Lock 53 | Bolt Ass’y(Squere) M6 X 23
19 | Rubber Washer 501 | Guide
20 | Ball Bearing(608VVMCEPS2L) 502 | Wrench(Hex. Sode.l 5mm_)
21 | Wiring Block Parts are subject to possible modification
22 | Stator without notice due to Improvements.
23 | Fan Guide
24 | Armature
25 | Lock Lever
26 | Ball Bearing(8001VVCMPS2L)
27 | Rubber Ring .
28 | Gear Cover Ass’y
29 | HITACHI Label
30 | Cord
31 | Hex.Socket Set Screw M5X8
32 { Brugh Holdar
33 | Carbon Bruch
34 | Brush Cap
35 | Cord Armor

Ne | HaumeHoBaHue Ha yacT Ne | HaumeHoBaHue Ha yacT
1 | Metan 33 | KokcoBa yeTka
2 3bbHa npegaBka Ha WnMHAen 34 Kanak Ha yeTka
3 | Obpxay Ha narep 35 | O6euBKa Ha kabena
4 3aTgraw ynnbTHeHne nnocbk Hd 36 M3Bog
BUHT M5 x 12
5 MpeanaseH kanak 37 Ckoba Ha kaben
6 | Bpblawa ce npyxuHa 38 | CamoHapeseH BuHT (W/ ®naHeu)
D4 x 16
7 | CaumeH narep 39 | CamoHapeseH BuHT (W/ LLian6a) D5
X 60
8 Kanak Ha narep 40 Mopnoxka
9 | 3ardraw, ynnbTHeHne nnocbk Hd 41 Mnockk Hd BUHT M 6x20
BUHT M4 x 12
10 | Wanba (B) 42 | Cynep 3artarawa wanba M6
11 | PexeLo octpue 43 | Kpunara ravika M6
(koMBUHMpaHo)185mm- oTBOp D19
12 | Wanba (A) 44 | MawwuHeH BuHT (W/ LWan6a)M3,5x6
13 | bont (W/ Wan6a) M7x17,5 45 | MNpekbeBay (C)
14 | MawwHeH BuHT (W/ LLanbn)M5x45 46 | lNokpuTne Ha pbKoxBaTKa
15 | CamoHapeseH BuHT (W/ ®naHeyn) D4 47 Bont ¢ kpunyarta rnasa M6x18
x 20
16 | VindopmaumoHHa Tabena 48 | lNpyxuHa
17 | Crnobka Ha kopnyca 49 | bont c kpunyara rnasa M6x15
18 | Cnupayka Ha narep 50 | Crnobka Ha ocHoBaTa
19 | lN'ymeHa wawnba 51 BbpTaw, wndpt D6x45
20 | CaymeH narep (608VVMC2EPS2L) 52 BonT (kBagpateH) M6
21 | Enektpuyeckm 6mnok 53 | Crnobka Ha 6onT (kBagpaTHa)
M6x23
22 | Cratop 501 | lMNMpucnocobneHune 3a HanpaeneHue
23 | Bogau Ha TypbuHa 502 | MaeyeH KoY (LLIECTOBIbIHO
rHe3go 5mMm)
24 | Apwmartypa
25 | 3agbpxaly noct
26 | CaumeH narep (6001VVCMPS2L)
27 | 'ymeH npbCTEH
28 | Crnobka Ha 3bOHaTa npegaska
29 | ETtuker
30 | Kaben
31 | 3acTtonopsiBall BUHT C LUECTOBILITHO

rHe3go M5x8

e-mail: info@valerii.com
CepBus:ten. 02/ 942 34 70 (HaynoHaneH)

www.valerii.com

Lentpanen opuc: Copua 1517

kB. "Cyxarta peka” 6yn. "Botesrpaacko woce” 44
Ten.: 02/ 942 34 00, daxc.: 02/ 945 4634

GSM 0889/ 444 991

Mnosaus, c.Tpya 4199
yn. "Crpoescko woce” 3
Ten./pakc 032/ 953 666
GSM 0885/ 808 003

Bapha 9000, k8. “Bnagucnasoso”

6yn. “AtaHac Mockos” 13
Ten.: 052/ 504 514
GSM 0885/ 808 004

Codua 2227, k8."Boxypuie”
6yn. "EBpona” 180, cknaa 33
Ten.: 02/ 925 22 37

GSM 0889/ 334 692

TIposepui: P.Y./24.03.2015r




;) BAAEPUWN C&M FPYN ALl

[ 32 | Oupxay Ha yeTka | |

nPEBOA HA OPUTUHAJTHA UHCTPYKLIUA 3A YITOTPEBA

LUPKYJIAP 0503CS026A

Tasu nHCcTpykumst € m3gageHa ot npomssogutenda: NINGBO GENIN
INDUSTRIAL CO LTD.,11F A2 LIYUAN SHANGDU
BUILDING 201 LANTIAN ROAD, HAISHU DISTRICT,
NINGBO CITY,NINGBO, Kurtan

Buocuten 3a Buarapus: ,BAJEPHM C u M T'PYIT” AJl rp.Codus, Gy
BoreBrpaacko moce 44

Ten. :02/ 942 34 00,®akc: +359 2 942 34 40, www.valerii.com

TexHunyecka UHcpopmauusa

LUNPKYAP

[suraten 1300W
HanpexeHne 230V-50/60Hz
CkopoctT. 4500 060pOT/ MUH.
Paamep Ha ocTpueTo 185mMm
MakcumanHa gbnboyrHa Ha paspes npu 90°  65Mm

(e |Form)

e-mail: info@valerii.com

MakcmanHa gbnboymHa Ha paspes npu 45°  38mm

UHcTpyKuum 3a 6ezonacHocT

MNpeon ga 3anoyHeTe paboTa C MawKMHaTa, MOSIS MHOMO BHMMATENHO Ada
npoyeTeTe n cnegsarte MHCTpykummTe. Ocurypsasankm 6e3onacHocCT 3a Bac U
apyrute, CbLLIO Taka ocurypsiBate npoabibkuTenHo u 6e3npobnemHo
hyHKLMOHMpPaHe Ha BallaTa efnekTpuyecka MallmHa.

NMo3HaBanTe BawaTa paboTHa MalMHa.

BaxHo e ga npoyeTteTe U pasbepeTe BallaTta WHCTPyKUUMS 3a ynoTpeba u
BCEKM €TUKET MocTaBeH Ha paboTHata MawwuvHa. [lpoyyeTe HENHOTO
MPUIOXEHNE, CbLLO Taka HEMHWUTE OrPaHMYEHUS U NOTEHLMATHM ONAacHOCTU
CBbp3aHu C Ta3n eneKkTpuyecka mMaluuHa.

3aszemsaBaNTe BCUYKU MHCTPYMEHTM.

Korato WHCTPyMeHTbLT € cHabgeH c 3 BbTpewHu kabena. BuHarm
CBbp3BalTe 3efeHust U XbMATUS CbC 3a3eMsiBalla Krema, HuWKora He ce
onuTBanTe Aa M CBbpXKEeTe C Knema nog HanpexeHue.

OpbXKTe npegnasuTenuTe BUHaru noctTaBeHM.

BuHarn gpbxTe npegnasntenvTe nocraBeHu, B 4O6po paboTHO ChCTOsHME,
KOpPEKTHO HarnaceHu u nogpasHeHW. Hukora He ce onuTBamTe paboTHara
MawmHa 6e3 npegocTaBeHMsa NpeanasuTen.

OTcTpaHeTe perynupaiwumTe Kno4ose.

BuHarn npoBepsiBanTe ganuv KrtoYOBETE U PErynupalinTe raeqyHun KrovoBe
ca OTCTpaHeHu OoT paboTHaTa MaluuHa, Npean Aa A BKIYUTe.
MouncrBanTe paboTHaTa obnacr.

Cny4yBaTt ce UHUMAEHTU, KbAETO PabOTHUTE MENKM M 30HU Ca Pa3XBbPIIAHM
unu MpbcHU. MoabT TpsbBa Aa O6bae 4MCT, M3dbareanTe ga paboTuTe Ha
MecTa, KbAETO NOABLT € X/Tb3raB nopaau npax oT psidaaHe UM BOCHK.
OnacHa cpepa.

He nsnonseaite Bawata paboTHa MalUMHA Ha BNaXXHW UM MOKPU MecTa U
He ro wusnarante Ha pgbxg. OcurypsaBante agekBaTHO paboTHO
NPOCTPaHCTBO M NoaabpXante 3oHaTa Jobpe ocBeTeHa.

Oeua

Heuata BuHarn Tpsibea ga 6bAaT Ha Ge3onacHo pascTosHWe oT paboTHaTa
obnacTt. HanpaseTte paboTunHuuata cu HegoCTbMHA 3a Aeua, 3akniyBanTe
WHCTPYMEHTUTE Ha MeCTa, KbAEeTo AeLaTa HAMa a MMat JOCTbN O TAX.

He npunaranTe npekaneHo ronsama cuna.

www.valerii.com
CepBus:ten. 02/ 942 34 70 (HaynoHaneH)

UenTpanex opuc: Copusa 1517 Mnosaus, c.Tpya 4199
kB. "Cyxarta peka” 6yn. "Botesrpaacko woce” 44
Ten.: 02/ 942 34 00, daxc.: 02/ 945 4634

GSM 0889/ 444 991

yn. "Crpoescko woce” 3
Ten./pakc 032/ 953 666
GSM 0885/ 808 003

Bapna 9000, k8. "Bnagucnasoso” Codua 2227, k8."Boxypuie”
6yn. “AtaHac Mockos” 13
Ten.: 052/ 504 514

GSM 0885/ 808 004

6yn. "EBpona” 180, cknaa 33
Ten.: 02/ 925 22 37
GSM 0889/ 334 692
TIposepui: P.Y./24.03.2015r


http://www.valerii.com/

;) BAAEPUWN C&M FPYN ALl

Bawarta paboTtHa mawwuHa we paboTn MHOro no-gobpe, ako He npunaraTe
npekareHo ronsimMa cuna, Korato s uanonssare.

M3non3BanTe KopekTHa paboTHa malumMHa.

He npetoBapBaTe nnn He M3nNon3BanTe enekTpuvyecka MalluHa 3a Len 3a
KOSITO HEe € MpoeKTupaHa.

HoceTte nogxopswo obnekno.

He HoceTe Bucawm apexv , repoaHn unm mxkyta (MPpbCTEHU, YaCOBHULM),
Te morat ga 6baaT 3axBaHaTy OT ABWXKeLLMTe ce YacTu. He HoceTe obyBKM,
KOUTO ce Xmb3raT, MOKpUnTE UNM BbpXeTe 0T3aj Abnrata Koca, HaBuiTe
ObNruTe pbKasu Hag NakbTS.

MpepnasBanTte rmaBaTa cu.

BuHarn HoceTe npeanasHu ouyuna, oyunaTta 3a exegHeBHa ynotpeba He ca
noaxoAswWn 3a 3allmMTa Ha ouyuTe, TbI KaTo newuTe He ca YCTOMYMBM Ha
yoap n morat pa ce pastpowaTt. W3nonssante Macka 3a nuue wnu
npoTMBOMNpaxoBa Macka, ako npu paboTa e ce oTaens npax u aHTUOHU
npv NPOABLIDKUTENHU Nepuoan Ha paboTa.

BesonacHa pab6orTa.

BuHarn 3axsawawvte o6paboTBaHMAa geTann ¢ cTara unu MeHreme, Taka Le
MOXEeTe [a u3nonseaTe ABeTe CU pble Aa HanpasnsiBaTe MaluMHaTa.
MaszeTe 6anaHc.

He ce npecsravite, 3aeManTe crabunHa no3vumsa npes usanoTo Bpeme, 3a aa
ocurypute 6anaHc.

NMopabpxanTe Bawarta paboTHa MalUUHa.

MopgaobpxanTe MawwuHaTa B Jobpo paboTHO CbCTOSHWME, pexewmTe
HakpavHMUX OCTPU M 4MCTM 3a No-gobpo u HGesonacHo YHKUMOHUPaHE.
Cneppavite MHCTPYKLMUTE 3a CMSIHA Ha akcecoapu U CMasBaHe.

BuHarn naknrouBanTe.

Mpeon nogMsaHa Ha HakpalHWUW BUHArK ce yBepsBanTe, Yye MaluvHaTta e
U3KIOYeHa OT U3TOYHMKA Ha 3axpaHBaHe.

N3b6sareanTe MHUMOEHTHO CTapTUpPaHe.

YBepeTe ce, ye ctaptoBus O6yToH e Ha nosuuus ,M3KJTKOYEH”, npean pa
BKIMOUUTE LLiencena KbM KOHTakTa.

Akcecoapu.

KoHcynTupante ce ¢ MHCTpyKumaTa 3a ynotpeba OTHOCHO npenopbYyaHuTe
akcecoapu. Crnefsante WHCTPYKUMUTE, KOUTO NpuAapyKaBaT akcecoapuTe.
Ynotpebarta Ha HenoaxoasiLm akcecoapy Moxe Aa 6bae onacHa.

Hukora He cTonTe cpelly paboTHaTa maluuHa.

CToeHeTo Ha NbTA Ha paboTHaTa MallMHa WM Ha CTOMKaTa M Moxe Aa
NPUYNHN CEPUO3HO HapaHsBaHE, ako MHCTPYMEHTBLT € 3a0CTPEH UMM ako
pexeLlmnsaT UHCTPYMEHT MHUMAOEHTHO 6bae ctapTupaH. He cbxpaHsasavite
mMaTepuanu Hag wnv 6nmu3o go MaluHaTa, Taka 4e ga e Heobxogumo ada
3acTaHeTe cpeLly UHCTPYMEHTa Unu HenHaTta CTOWKa, 3a Aa r OOCTUrHeTe.
MpoBepka 3a NnoBpeAeHU YacTu.

AKO HSIKOS1 YacT Ha MalluHaTa e noBpefeHa, Npegu nocnegpalla ynotpeba,
npoBepeTe ganu NpaBuITHO We PYHKUMOHNPA U e M3BbpLUBA AENHOCTUTE
3a KOMTO € nNpeaHa3HadeHa. [poBepeTe NogpaBHSIBAHETO HA OBUXELLUTE Ce
YacTM 3a cnosiBaHe. Bceku npegnasvten wnu Apyra 4act, KoATO e
noepeaeHa TpsbBa fa 6bae NpaBUMHO PEMOHTMPAHa UM NOAMEHEHa.
Mocoka 3a nogaBaHe Ha peTanna

MogHeceTe obpaboTBaHUs geTann KbM OCTPUMETO MMM pe3eLa caMo CpeLly
nocokaTta Ha BbPTEHE Ha OCTPMETO Unu peseLia.

He ocTaBsanTe mawunHaTa ga pa6oTtu 6e3 Hagsop.

BuHarn nsyakeanTe mawmHaTa HambfHO Aa chpe, Npeau ga 9 ocTaBuTe,
cnepf ToBa U3KIMOYETE OT M3TOYHMKA Ha 3axpaHBaHe.

PasonakoBaHe 1 NpoBepKa Ha CbAbPXKaHUETO.

OtaeneTte BCMYKM YacTy OT OMaKoBbYHUTE MaTtepuany 1 cpaBHETE BCsKa OT
TAX CbC CpeLLynosiokHaTa KapTrHa U Cnncbka ¢ TAX No-Hagosny. AKo nuncea
HSIKOS 4YacT He Wu3nona3BanTe brrownandga, Jokato Te He Obpar
NpefoCTaBEHN Y KOPEKTHO NOCTaBEHM.

CnucbK Ha oToenHuTe YacTu.

A YcnopegHa nperpaga 1
B BuHTOB Kntoy 3a 6onTa Ha ocTpueto 1
C C BuHTOB Knto4 1

Akfix:

e-mail: info@valerii.com

www.valerii.com

CepBus:ten. 02/ 942 3470 (HauymoHaneH)

UenTpanex opuc: Copusa 1517 Mnosaus, c.Tpya 4199
yn. "CrpoeBscko woce” 3
Ten./pakc 032/ 953 666

GSM 0885/ 808 003

kB. "Cyxarta peka” 6yn. "Botesrpaacko woce” 44
Ten.: 02/ 942 34 00, daxc.: 02/ 945 4634
GSM 0889/ 444 991

Bapna 9000, k8. "Bnagucnasoso” Codua 2227, k8."Boxypuie”
6yn. “AtaHac Mockos” 13
Ten.: 052/ 504 514

GSM 0885/ 808 004

6yn. "EBpona” 180, cknaa 33
Ten.: 02/ 925 22 37
GSM 0889/ 334 692
TIposepui: P.Y./24.03.2015r



;) BAAEPUWN C&M TPYN AQl

MHcTpykumm 3a PaboTa

Mpeou BCsIKa ynoTpeba
nposepsBante  (OYHKLUNOHUPAHETO
Ha [ONHWS npeanasuTen KaTo
paboTHaTa mMaluMHa He TpsibBa ga e
CBbp3aHa c N3TOYHMK Ha

eneKTpu4ecko  3axpaHBaHe. He
usnornssanTe, ako JONHUAT
npegnasiten He ce  3artBaps

NNaBHO Hah pexewoTo ocTpue.
YBepeTe ce, 4Ye npeanasuTensaTt ce
BpbLla Hanbv/MIHO B MbpBOHaA4alHaTa CU
ocTpueTaTa YUCTU U OCTPMU.

Korato 6opaBuTe c ocTpueTaTa, HoceTe pbKaBULM.

BuHarn nasete pbueTe CM OT 30HaTa Ha psidaHe U ocTpueTo. He ce
npecsrante Hag obpaboTBaHUs AeTaln, AokaTo OCTpMeTo ce BbpTU. He ce
onuTBanTe Aa OTCTpaHWTe MaTepuana, KOMTO pexeTe [oKaTo OCTPUETO ce
OBWXKN.

BHUMAHMUE!

OcTpueTto LWle NpoAbLMXKM Aa ce
BbPTU U3BECTHO BpeMe, crief KaTo
MaluMHaTa 6bAe U3KIYeHa.
NPEAYNPEXOEHUE!
MNpepnasutenute BuHarn TpsbBa
Aa ObaaTr no mectata cu U B
[AO06po paboTHO CBHLCTOAHME, 3a Aa
ce u3berHat cCepuo3Hu MHUMAEHTN.

nos3unums.

MopabpxanTte

PREMIUM

e-mail: info@valerii.com

MopabpkanTe ronemmte MIIOCKOCTU KakTo e nokasaHo Ha (dwur.1), 3a pa
HamanuMTe pucka OT 3acsgaHe Ha ocTpueTo u otkat (Pur.2). Korato
OEenHoCTTa Nnpu psidaHe U3UCKBa OCTPMETO Aa ocTaHe B obpaboTBaHus
netawnn, To TpsibBa ga octaHe B Ham-rongmarta 4acT Y BCUYKM Mariku 4yacTtu
na 6baart oTpsi3aHu.

BuHarn nsnonssante nperpaga npu pss3aHe, a CbLUO Taka v nperpaga unu
npucnocobneHne 3a HanpaeneHwe 3a npaB pbb, korato pexeTre Mo
ObIMKUHA Ha BIAKHOTO.

lMpepnassaHe oT oTkaT. OTKaT ce Mony4yaBa, KoraTto OCTpUeTo Obp30 ce
3anbHe WM OTCKOMM Hasag B Mocoka KbM pabotewwms. HesabasHo
ocBoboeTe NpekbCcBaya, ako OCTPUETO 3aceHe UMM TPUOHBLT Ce 3ambHe.
HaunHu pa nsberHete oTkar:
Mopabpxante octpmueTaTa OCTpu.
Mopabpxante ronemute
obpaboTBaHn pJeTannu, Kakto e
nokasaHo (®wur.1).

Korato pexete Mo AbMKUHA Ha
BNakHaTa, u3nonssanTte nperpagja
npu -psisaHe wunu nperpaga wunm
npucnocobneHve 3a HanpasneHue
3a npaB pbo.

He npunaravte cuna cnpsaMo enekTpyyeckaTa MalluHa.

bbaeTe Halwpek, npunaraniTe KOHTPOT.

He oTcTpaHsaBanTe ocTpmMeTo OoT 06paboTBaHMsA geTann, 4okaTo To BCe oue
ce OBVXN.

Hvkora He noctaBanTe pbueTe MM NPLCTUTE CU 33 OCTPUETO, ako ce
NnosiBM OTKaT, TO MOXE [Ja OTCKOYM Hasad BbpXy pbkaTa BU, KATO €
Bb3MOXHO Ja MPUYUHU  TEXKU
HapaHsiBaHus.(Pur.3)

BuHarm cnyckavte npeanasutens
CbC 3acTonopsBallaTta pbkoxsaTka.
Mpeon psAsaHe ce yBepeTe, ue
HacTpolkuTe Ha pgbnbouynHata W
OTKOCa ca aKkypaTHW.
M3nonsgante camo
ocTpveTa 3a Bawarta

noaxoasLiu
paboTHa

www.valerii.com
CepBus:ten. 02/ 942 34 70 (HaynoHaneH)

UenTpanex opuc: Copusa 1517 Mnosaus, c.Tpya 4199
kB. "Cyxarta peka” 6yn. "Botesrpaacko woce” 44
Ten.: 02/ 942 34 00, daxc.: 02/ 945 4634

GSM 0889/ 444 991

yn. "Crpoescko woce” 3
Ten./pakc 032/ 953 666
GSM 0885/ 808 003

Bapna 9000, k8. "Bnagucnasoso” Codua 2227, k8."Boxypuie”
6yn. “AtaHac Mockos” 13
Ten.: 052/ 504 514

GSM 0885/ 808 004

6yn. "EBpona” 180, cknaa 33
Ten.: 02/ 925 22 37
GSM 0889/ 334 692
TIposepui: P.Y./24.03.2015r




B n

@ BAAEPVII?I{C&M rPynAn

V M E

MallMHa C KOpeKTHa rofieMyHa Ha pes3uunTe.
Hukora He n3nonaeante AedeKTHO UM HENOOXOASILWO OCTpue, Wandun unm
donTtoBe.

N3bareante ga pexeTte NMPOHU, KaTo NPOBEPUTE 3a TakMBa U I'M OTCTPaHUTE
BCMYKUTE OT 06paboTBaHMsa geTann, npeau ga ctaptupare pabora.
PaboteTe ¢ nogxopsalwiarta pbka U nogapbXxka Ha obpaboTBaHusa getann
(dwr.4).

NMPEAYNPEXOEHUE! BaxHo e npaBunHO pa noaabpXxate
ob6paboTBaHMA geTann M ocTpmeTo Aa 6bae 34paBo 3axBaHaTo, 3a Aa
ce npepoTBpatTu 3aryba Ha KOHTPOJZ, KOETO MOXe Aa NPUYUHMU
¢musnyecko HapaHsBaHe. Buxte ¢ur.4, koaTo uncTpupa TUNUYHO
3axBallaHe ¢ pbKa Ha LUpKynspa.

lMocTaBeTe Mo-LIMpOKaTa YacT Ha OCHOBATa Ha UMPKynspa B Ta3n 4acT Ha
obpaboTBaHMsA geTain, KoATo € 34paBO 3axBaHaTa, He B obnacTtra KosiTo
e nagHe, koraTo pa3pe3bT Obae HanpaBeH. AKO AeTaunbT € KbC Unn
ManbK, 3axBaHeTe ro CbC cTara.

PREMIUM

e-mail: info@valerii.com

HE CE ONUTBAWTE A 3A0BbPXUTE KbCO NAPYE C PBbKA!
®ur.5 nnocTpmpa NPaBUNHUAT Ha4MH, 3a Ja OTpexXeTe Kpas Ha AbckaTta.

®ur.6 unocTpupa rpeLlHna HauyuH a OTpexeTe Kpasl Ha Abcka.

Hwukora He ce onuTBanTe Aa pexeTe C LMPKYnsip 3axBaHaT obbpHaT Hagony
¢ meHreme (dwur.7). ToBa e M3KNIOYMTENHO ONACHO M MOXe Aa AoBede Ao
CEPUO3EH NHLMNAEHT.

Mpeow ga octaBuTe MHCTPYMEHTA Cref KaTo CTe 3aBbpluMnm paspesa ce
yBepeTe, 4Ye OONHUAT NpeanasvuTen ce € 3aTBOpuil U OCTPUETO HaMbIIHO €
cnpsrno.

www.valerii.com

CepBus:ten. 02/ 942 34 70 (HaynoHaneH)

Lentpanen opuc: Copua 1517

Mnosaus, c.Tpya 4199
kB. "Cyxarta peka” 6yn. "Botesrpaacko woce” 44
Ten.: 02/ 942 34 00, daxc.: 02/ 945 4634

GSM 0889/ 444 991

yn. "Crpoescko woce” 3
Ten./pakc 032/ 953 666
GSM 0885/ 808 003

BapHa 9000, k8. "Bnaancnasoso’ Codusn 2227, k."Boxypuiie
6yn. “AtaHac Mockos” 13
Ten.: 052/ 504 514

GSM 0885/ 808 004

6yn. "EBpona” 180, cknaa 33
Ten.: 02/ 925 22 37
GSM 0889/ 334 692
TIposepui: P.Y./24.03.2015r



